
304 L      =       ........................................................................................................     cm³

0,1 L      =       ........................................................................................................     dm³

2,9088 m³      =       ........................................................................................................     hL

136,59 cm³      =       ........................................................................................................     mL

444,6 dL      =       ........................................................................................................     L

69,78 cm³      =       ........................................................................................................     mL

82,459 cm³      =       ........................................................................................................     mL

94 dm³      =       ........................................................................................................     L

96 m³      =       ........................................................................................................     hL

591 L      =       ........................................................................................................     cm³

22 L      =       ........................................................................................................     hL

89,775 L      =       ........................................................................................................     cm³

40 L      =       ........................................................................................................     hL

13,964 m³      =       ........................................................................................................     hL

434 L      =       ........................................................................................................     hL



304 L      =     304 dm³      =     304000 cm³

0,1 L      =     0,1 dm³

2,9088 m³      =     2908,8 dm³      =     2908,8 L      =     29,088 hL

136,59 cm³      =     0,13659 dm³      =     0,13659 L      =     136,59 mL

444,6 dL      =     44,46 L

69,78 cm³      =     0,06978 dm³      =     0,06978 L      =     69,78 mL

82,459 cm³      =     0,082459 dm³      =     0,082459 L      =     82,459 mL

94 dm³      =     94 L

96 m³      =     96000 dm³      =     96000 L      =     960 hL

591 L      =     591 dm³      =     591000 cm³

22 L      =     0,22 hL

89,775 L      =     89,775 dm³      =     89775 cm³

40 L      =     0,4 hL

13,964 m³      =     13964 dm³      =     13964 L      =     139,64 hL

434 L      =     4,34 hL


